DA T-By 2025%F = e
SH | & SHDODITS 5 5F REEBIITTARIPEER:
o~ ST EFE — J=>=J° )
= B W K X & T =
..... = I R R N— R—_— L 2 3 4
IMDIEERERRE MR RES = hsoimd HEDDBE
17 OEFEDH=
£
B0 N S S X
SB ¥16:20/F17:45 F13:05
..... = < | RL< | R 4 S| 9 10 11
et SIO)= SR8 WigRZE gL [/\— B Uiks |/\— 8t PTATDIREEHIEE
17 EREAR IMDIEERERKRE PN EE =
=
B S FA S S O
SB E14:25 ¥16:05/F17 :45|¥16:20/F17:45
..... S 20 A8 A, 15 16 17 18
J\— =85 J\— =5 J\— =185 CS® FERS
7 |7 vER%ED OIFEDH= HMRHEZ (18 1345 |IhWOBERKRE
ORZEDH= ~) ﬁ’@%__@
0 S A © T E © N — O
SB T15:10 ¥16:20/F17:45|¥16:05/817 :45|¥16:20/F17 :45|¥16:20/817:45
..... B A 2O 22 23 24 25
HESRg2 Q-UD HRRZ (2F 1345 |EP9Eas FHEREHA (35
7 |(ER 840~1000) |OFEOLH=E ~) IMDIEERE SRR E fei£3E58 (29 56
AE N bR
B |OEEDH= OIEDH=
............................................................................................................................................................................................................................................. ERD)
K= X i O i O il O O
SB T15:10 ¥16:20/F17 :45(#¥16:05/F17 :45|¥16:20/F17 :45|*¥16:20/F17:45
..... a1 o 28 228 29 30 31
(@) BDikDIRD A= HRHESZ (3% 1345 |BiiAiEzE (1 5) S AERZFE (2F)
| PvFzR%D i AREEZ (ZER 9:830~ |~) i IS AERZE (25F) OIZEDH=
7 |BxFRAME BED * |11:30,13:30~ iB)1~34F E:E IMNDIBE B
2% ESEQD - 35 EEFE |15.00)
= @208 OREEDHE
_________________ OrEE0B=E
K= X i O SR 28X 28X
SB T15:10 ¥16:20/F17 :45(#¥16:05/F17 :45|¥16 :05/F17 :45|*#¥16:20/F17:45




